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•  MS OFFICE WORD: ¦^���2§|±=�=y§/
ÏEquation Editor3.03©�¥�\êÆúª"

• TEXAid :TeXAid|±Word"��lWordÊ�TeXAid¥§��2Ê
�TeX¥"

• MathType5.0 : �TEXAidaq§��¤§�õU�'TEXAidr.

§´MS Word À^�úª?6ì;��, |±õ«E��ª§
3�½E�=��LaTeX��§�±òúª��Êb�LaTeX©�
¥"��ChinaTeXØ�e1http://www.ctexer.net/index5_03.htm,

SNµMTWE50-092001-CALB4(^r¶?¿)
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• SWP.0 : Scientific Work Place4.0,§äkLATEXÚWORD�õU§
��þ´LATEX©�§�äk=�=w�õU,�±¢y¥©Ñ\�Ñ
Ñ§�ØUò¥©�©����LATEX�ª.Ù,�õUSiÎÒ?n
^�Maple§Ïd�±3?6ì¥d�½�¼ê'X�Ñ��!n�ã
/(ÙScientific NotebookÚScientific Word´Ù��*~�)"

• �«LATEXXÚ:ASSII©�§NÈ�§�I��A�XÚe?1?È§)
¤dvi,ps½pdf©�.



LATEX¥úª�ü�

0�: úªü�´TEXõU�r�Ü©§�Ð�¤±muÑTEXXÚ§Ò´
�
êÆúª�ü�ù�JK"
LATEX?�Ú�õ
TEXêÆü��(�§
k|u�E�E,�úª",	§·���±|^{IêÆ¬�Ñ�AMS

-LATEXü��;��êÆ©Ù.

ê Æ ú ª A ? u ê Æ � ¸ ¥ § � � 3$ · · · $½ ö\( · · ·
\)¥ ± ) ¤ � © ú ª § 
 � � 3$$ · · · $$½\[ · · · \]½
ö\begin{\displaymath}...\end{displaymath}¥ § ½ ö � ¹ 3 a q
u\begin{equation} · · · \end{equation}��¸SÜ)¤üÕúª"~X
d$y=x^2+z_2$)¤y = x2 + z2§
�)¤

lim
x→a

f(x)− f(a)

x− a
(1)

@ÒI�Ñ\
$$\lim_{x \to a} \frac{f(x)-f(a)}{x-a}$$
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~^�êÆúª: e¡�~f¥�
ªfI�^�amsmath÷�¥�·
-§Ïd3�ó«\\\usepackage{amssymb,amsmath}

• \~¦Ø:
a + b a− b ab a · b a× b a/b a

b
$a+b$ $a-b$ $a b$ $a \cdot b$ $a \times b$ $a/b$ $\frac{a}{b}$

• þeI:

���ai1,a
3,ai1IÑ\

$a_{i1}$,$a^3$,$a^{i1}$

• ­Ñ:
$\check{a}$ ǎ $\tilde{a}$ ã $\hat{a}$ â
$\grave{a}$ à $\dot{a}$ ȧ $\ddot{a}$ ä
$\breve{a}$ ă $\bar{a}$ ā $\vec{a}$ ~a
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• ��ªXê:

dTEX·-$m \choose n$½amsmath¥�·-$\binom{m}{n}

��
(
m
n

)
.

• Ó{:
a ≡ b (mod p) $a \equiv b \pmod{p}$

a ≡ b (p) $a \equiv b \pod{p}$

a mod b = 0 $a \bmod b=0$

• ½.Î:

d$$ \left(\frac{a+b}{a+b^2}\right)^2$$ ��
(

a + b

a + b2

)2
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• ¼ê:

3êÆúª¥§�ülogn½sinx§K�Ñ\$\log n$Ú$\sin x$, 
Ø
U��Ñ\$log n$Ú$sin x$,�ö¬��lognÚsinx"

• �ÑÒ:

ê Æ ú ª ¥ ~ Ñ y n « � Ñ Ò:· · · ,. . .,...,. . .© O Ï
L$\cdots$,$\ldots$,$\vdots$,$\ddots$��.

1�«Ñy31 + 2 + · · ·+ n¥§
1�«Ñy3i = 1,2, . . . , n¥§
1n!o«�ÑÒKÑy3Ý
�ü�¥.
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• È©Ò:

È©Ò
∫ 1

0
,
∫

,
∮

,
∫∫

,
∫∫∫

,
∫∫∫∫

,
∫
· · ·

∫

©Od
\int^1_0,\int,\oint,\iint,\iiint,\iiiint,\idotsint

�).

• �Ò:

d$\sqrt{2}$,$\sqrt[3]{2}$�©O��
√

2, 3√2"
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• Ý
:

d

\[ \[

\begin{matrix} \begin{pmatrix}

a & b & c\\ a & b & c\\

c & e & f c & e & f

\end{matrix} \end{pmatrix}

\] \]

�±©O��
a b c
c e f

Ú
(

a b c
c e f

)
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• ¦Ú�¦È:

n∑

i=0

1

i2
,

n∏

i=0

1

i2

de¡�·-��

\[

\sum_{i=0}^n \frac{1}{i^2},

\qquad \_{i=0}^n \frac{1}{i^2}

\]
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• ©�:

êÆúª¥�U¬Ñy�©©�§~X

f =




1, XJx ≥ 0,

0, Ù§,

�de¡�·-��

$$

f=\begin{cases}

1,&\mbox{XJ$x\ge 0$},\\0,

&\mbox{Ù§,}

\end{cases}

$$
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úª1

\begin{displaymath}
x \mapsto
\{c \in C \mid c \leqslant x\}

\end{displaymath}

x 7→ {c ∈ C | c 6 x}
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úª2

\begin{displaymath}
\left|

\bigcup( I_{j} \mid j \in J )
\right|
<\mathfrak{m}

\end{displaymath}

∣∣∣
⋃

(Ij | j ∈ J)
∣∣∣ < m
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úª3

\begin{displaymath}
A=\{ x\in X \mid x \in X_{i}

\mbox{\quad éu¤k} i \in I
\}

\end{displaymath}

A = {x ∈ X | x ∈ Xi éu¤ki ∈ I}
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úª4

\begin{displaymath}
\Gamma_{u’}=
\{\gamma \mid \gamma < 2\chi,
B_{\alpha} \nsubseteq u’,
B_{\gamma} \subseteq u’ \}

\end{displaymath}

Γu′ = {γ | γ < 2χ, Bα * u′, Bγ ⊆ u′}
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úª5

\begin{displaymath}
A=B^2 \times \mathbb{Z}

\end{displaymath}
A = B2 × Z
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úª6

\begin{displaymath}
F(\mathbf{x})=
\bigvee\nolimits_{\!\mathfrak{m}}
\left(\,
\bigwedge\nolimits_{\mathfrak{m}}
(\,x_{j} \mid j \in I_{i} \,)
\mid i < \aleph_{\alpha}

\,\right)
\end{displaymath}

F (x) =
∨

m

( ∧
m
(xj | j ∈ Ii ) | i < ℵα

)
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úª7

\begin{displaymath}
\left. F(x) \right|_{a}^{b}
=F(b)-F(a)

\end{displaymath}

F (x)|ba = F (b)− F (a)
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úª8

\begin{displaymath}
u \underset{\alpha}{+}
v \overset{1}{\thicksim} w

\overset{2}{\thicksim} z
\end{displaymath}

u +
α

v
1∼ w

2∼ z
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úª9

\begin{displaymath}
f(x) \overset{\text{def}}{=}

x^{2}-1
\end{displaymath}

f(x)
def
= x2 − 1
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úª10

\begin{displaymath}
\overbrace{a+b+\cdots+z}^n

\end{displaymath}

n︷ ︸︸ ︷
a + b + · · ·+ z
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úª11

\begin{displaymath}
\begin{vmatrix}

a + b + c & uv\\
a + b & c + d

\end{vmatrix}
\end{displaymath}

∣∣∣∣
a + b + c uv

a + b c + d

∣∣∣∣

\begin{displaymath}
\begin{Vmatrix}

a + b + c & uv\\
a + b & c + d

\end{Vmatrix}
\end{displaymath}

∥∥∥∥
a + b + c uv

a + b c + d

∥∥∥∥
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úª12

\begin{displaymath}

\sum_{j \in \mathbf{N}} b_{ij} \hat{y}_{j}=

\sum_{j \in \mathbf{N}} b^{(\lambda)}_{ij} \hat{y}_{j}+

(b_{ij}-\lambda_{i}) \hat{y}

\end{displaymath}

∑

j∈N

bijŷj =
∑

j∈N

b
(λ)
ij ŷj + (bij − λi)ŷ
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úª13

\begin{displaymath}

\sum_{i=1}^{\left[ \frac{n}{2}\right]}

\binom{x_{i,i+1}^{i^2}}

{\left[\frac{i+3}{3} \right]}

\frac{\sqrt{\mu(i)^{\frac{3}{2}} (i^2-1)}}

{\sqrt[3]{\rho(i)-2}+\sqrt[3]{\rho(i)-1}}

\end{displaymath}

[n
2]∑

i=1

(xi2
i,i+1[
i+3
3

]
)

√
µ(i)

3
2(i2 − 1)

3
√

ρ(i)− 2 + 3
√

ρ(i)− 1
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úª14

\begin{displaymath}

\left( \prod^n_{j=1}\hat x_j\right) H_c=

\frac{1}{2} \hat k_{ij} \det \hat{\mathbf{K}}(i|i)

\end{displaymath}




n∏

j=1

x̂j


 Hc =

1

2
k̂ij det K̂(i|i)
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úª15

\begin{displaymath}

\int_{\mathcal{D}}|\overline{\partial u} |^2

\Phi_0 (z) e^{\alpha |z|^2} \geq

c_4 \alpha \int_{\mathcal{D}} |u|^2 \Phi_0

e^{\alpha |z|^2} +c_5 \delta^{-2}

\int_A |u|^2 \Phi_0 e^{\alpha |z|^2}

\end{displaymath}

∫

D
|∂u|2Φ0(z)e

α|z|2 ≥ c4α
∫

D
|u|2Φ0eα|z|2 + c5δ−2

∫

A
|u|2Φ0eα|z|2
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úª16

\begin{displaymath}

\mathbf{A}=

\begin{pmatrix}

\dfrac{\varphi \cdot X_{n,1}}{\varphi_1 \times \varepsilon_1}

& (x+\varepsilon_2)^2 & \cdots

& (x+\varepsilon_{n-1})^{n-1}

& (x+\varepsilon_{n})^{n}\\

\dfrac{\varphi \cdot X_{n,1}}{\varphi_2 \times \varepsilon_1}

& \dfrac{\varphi \cdot x_{n,2}}{\varphi_2 \times \varepsilon_2}

& \cdots & (x+\varepsilon_{n-1})^{n-1}

& (x+\varepsilon_{n})^{n}\\
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\hdotsfor{5}\\

\dfrac{\varphi \cdot X_{n,1}}{\varphi_n \times \varepsilon_1}

& \dfrac{\varphi \cdot X_{n,2}}{\varphi_n \times \varepsilon_2}

& \cdots

& \dfrac{\varphi \cdot X_{n,n-1}}{\varphi_n \times \varepsilon_{n-1}}

& \dfrac{\varphi \cdot X_{n,n}}{\varphi_n \times \varepsilon_n}

\end{pmatrix}

+\mathbf{I}_n

\end{displaymath}

A =




ϕ ·Xn,1

ϕ1 × ε1
(x + ε2)

2 · · · (x + εn−1)
n−1 (x + εn)n

ϕ ·Xn,1

ϕ2 × ε1

ϕ · xn,2

ϕ2 × ε2
· · · (x + εn−1)

n−1 (x + εn)n

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
ϕ ·Xn,1

ϕn × ε1

ϕ ·Xn,2

ϕn × ε2
· · · ϕ ·Xn,n−1

ϕn × εn−1

ϕ ·Xn,n

ϕn × εn




+ In
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úª17(I�\1÷�amscd)

\begin{displaymath}

\begin{CD}

A @>\log>> B @>>\text{bottom}> C @=

D @<<< E @<<< F\\

@V\text{one-one}VV @VVV @AA\text{onto}A\\

X @= Y @>>> Z\\

@A\beta AA @AA\gamma A\\

D @>\alpha>> E\\

\end{CD}

\end{displaymath}

29



A
log−−→ B −−−−−→

bottom
C D ←− E ←− F

one-one

y
y

xonto

X Y −→ Z

β

x
xγ

D
α−→ E


